Bexar Central Appraisal District

411 N. Frio, San Antonio, TX 78207 | Phone: 210-242-2432 | www.bcad.org

November 13, 2025

To: All Participating Taxing Units of Bexar Central Appraisal District

RE: CORRECTED NOTICE OF 2025 VOTING ENTITLEMENTS

Purpose of This Corrected Notice

This correspondence serves as an official corrected notice of 2025 voting entitlements for the appointment of members to the 2026 Bexar Central Appraisal District Board of Directors. It replaces and supersedes the previous notice issued on October 20, 2025. After an internal compliance review, it was determined that the total number of votes distributed was incorrectly calculated as 5,000 instead of 2,000, due to a misapplication of the multiplier in Tax Code § 6.03(d).

Explanation of the Correction

Under Texas Property Tax Code § 6.03(d), the number of votes distributed among participating taxing units must be determined as follows: "The voting entitlement of a taxing unit... is determined by dividing the total dollar amount of property taxes imposed in the district by the taxing unit for the preceding tax year by the sum of the total dollar amount of property taxes imposed in the district for that year by each taxing unit that is entitled to vote, multiplying the quotient by 1,000, and then by the number of directorships to be filled."

For the 2026 term, two (2) directorships are to be filled (corresponding to the expiration of the one-year staggered terms drawn in 2024). Accordingly, the total number of votes available for distribution is $2,000 (1,000 \times 2 \text{ directorships})$. The previous notice inadvertently retained the 2024 transition-year total of 5,000 votes, which applied when five positions were being filled. While the percentage distribution for each taxing unit remains unchanged, the vote totals must now be adjusted to align with statutory requirements.

Impact on Voting Units

Each taxing unit's percentage entitlement remains identical to the previous notice. Only the total number of available votes has been corrected from 5,000 to 2,000. Any ballots previously cast using the 5,000-vote allocation are void and must be resubmitted using the corrected voting entitlement enclosed with this notice. Votes must be resubmitted by December 15, 2025, consistent with the statutory deadline in Tax Code § 6.03(k).

Next Steps for Taxing Units Review the enclosed Corrected Voting Entitlement Table

Adopt a new resolution designating how your governing body's votes will be cast using the corrected totals. Submit the Ballot and Resolution to the Chief Appraiser no later than December 15, 2025: a copy of the ballot has been included for your convenience.

We appreciate the continued partnership of each taxing unit in ensuring that our collective processes remain accurate, transparent, and fair. This correction will not affect any outcomes or election timelines but ensures the integrity of the board appointment process and reinforces our shared mission of transparency, trust, and teamwork.

For any questions or clarification, please contact Chief Appraiser Rogelio Sandoval, or his assistant, at 210-242-2409.

Sincerely,

Rogelio Sandoval, Chief Appraiser

Enclosures

Frequently Asked Questions (FAQ)

Q1. Why did this occur?

During preparation of the 2025 notices, the 2024 transitional vote total $(5,000 \text{ votes} = 5 \text{ directorships} \times 1,000)$ was inadvertently carried forward. After identifying the discrepancy during routine reconciliation, the district is issuing this correction proactively to ensure statutory compliance and transparency.

Q2. Does this change my voting percentage?

No. Each taxing unit's voting entitlement percentage based on its proportion of total prior-year property taxes within the district remains identical. Only the number of total votes has changed to reflect the two seats available.

Q3. What if we already submitted our ballot?

Any ballots submitted under the previous notice are nullified by this correction. Please resubmit your governing body's vote using the enclosed Corrected Ballot by December 15, 2025.

Q4. Will this delay the appointment process?

No. The statutory timeline under § 6.03(k) remains intact. This correction ensures that all votes are properly aligned with the number of open directorships before tabulation and certification.

Bexar Central Appraisal District Voting Entitlement Calculation

Taxing Unit	2024 Tax Levy	Sum of Levies	Percentage of Total Levy	Percentage Times 1,000 Rounded to Whole Number	Number of Directorship Positions to be Filled	Total Votes
ALAMO COMMUNITY COLLEGE DIST.	\$371,155,748	\$4,178,153,759	0.0888324771	89	2	178
ALAMO HEIGHTS ISD	\$81,284,888	\$4,178,153,759	0.0194547383	19	2	38
BEXAR COUNTY	\$633,755,511	\$4,178,153,759	0.1516831470	152	2	304
BOERNE ISD	\$34,568,475	\$4,178,153,759	0.0082736244	8	2	16
CITY OF ALAMO HEIGHTS	\$8,273,275	\$4,178,153,759	0.0019801270	2	2	4
CITY OF BALCONES HEIGHTS	\$2,192,201	\$4,178,153,759	0.0005246817	1	2	2
CITY OF CASTLE HILLS	\$4,916,808	\$4,178,153,759	0.0011767896	1	2	2
CITY OF CHINA GROVE	\$526,505	\$4,178,153,759	0.0001260138	0	2	0
CITY OF CONVERSE	\$12,085,232	\$4,178,153,759	0.0028924814	3	2	6
CITY OF ELMENDORF	\$1,015,827	\$4,178,153,759	0.0002431282	0	2	0
CITY OF FAIR OAKS RANCH	\$4,909,502	\$4,178,153,759	0.0011750410	1	2	2
CITY OF GREY FOREST	\$69,040	\$4,178,153,759	0.0000165240	0	2	0
CITY OF HELOTES	\$5,038,247	\$4,178,153,759	0.0012058549	1	2	2
CITY OF HILL COUNTRY VILLAGE	\$725,163	\$4,178,153,759	0.0001735606	0	2	0
CITY OF KIRBY	\$3,486,611	\$4,178,153,759	0.0008344860	1	2	2
CITY OF LEON VALLEY	\$6,437,465	\$4,178,153,759	0.0015407439	2	2	4
CITY OF LIVE OAK	\$7,591,021	\$4,178,153,759	0.0018168362	2	2	4
CITY OF LYTLE	\$6,241	\$4,178,153,759	0.0000014937	0	2	0
CITY OF OLMOS PARK	\$4,408,700	\$4,178,153,759	0.0010551790	1	2	2
CITY OF SAN ANTONIO	\$843,529,760	\$4,178,153,759	0.2018905499	202	2	404
CITY OF SANDY OAKS	\$857,821	\$4,178,153,759	0.0002053110	0	2	0
CITY OF SCHERTZ	\$3,437,866	\$4,178,153,759	0.0008228194	1	2	2
CITY OF SELMA	\$2,139,386	\$4,178,153,759	0.0005120410	1	2	2
CITY OF SHAVANO PARK	\$5,135,519	\$4,178,153,759	0.0012291360	1	2	2
CITY OF SOMERSET	\$1,019,083	\$4,178,153,759	0.0002439075	0	2	0
CITY OF ST HEDWIG	\$1,327,582	\$4,178,153,759	0.0003177437	0	2	0
CITY OF TERRELL HILLS	\$7,344,245	\$4,178,153,759	0.0017577728	2	2	4
CITY OF UNIVERSAL CITY	\$10,640,969	\$4,178,153,759	0.0025468113	3	2	6
CITY OF VON ORMY	\$110,649	\$4,178,153,759	0.0000286368	0	2	0
CITY OF WINDCREST	\$4,027,970	\$4,178,153,759	0.0009640550	1	2	2
COMAL ISD	\$40,289,098	\$4,178,153,750	0.0096427993	10	2	20
EAST CENTRAL ISD	\$74,540,831	\$4,178,153,759	0.0178406146	18	2	36
EDGEWOOD ISD	\$22,385,085	\$4,178,153,759	0.0053576499	5	2	10
FLORESVILLE ISD	\$32,633	\$4,178,153,759	0.0000078104	0	2	0
HARLANDALE ISD	\$30,864,126	\$4,178,153,759	0.0073870249	7	2	14
JUDSON ISD	\$153,248,717	\$4,178,153,759	0.0366785728	37	2	74
MEDINA VALLEY ISD	\$35,126,067	\$4,178,153,759	0.0084070786	8	2	16
NORTH EAST ISD	\$510,038,662	\$4,178,153,759	0.1220727363	122	2	244
NORTHSIDE ISD IN BEXAR COUNTY	\$769,452,698	\$4,178,153,759	0.1841609338	184	2	368
SAN ANTONIO ISD	\$316,361,214	\$4,178,153,759	0.0757179444	76	2	152
SCHERTZ-CIBOLO ISD	\$15,319,371	\$4,178,153,759	0.0036665407	4	2	8
SOMERSET ISD IN BEXAR COUNTY	\$6,769,671	\$4,178,153,759	0.0030003407	2	2	4
SOUTH SAN ISD	\$32,473,826	\$4,178,153,759	0.0077722908	8	2	16
SOUTHSIDE ISD	\$27,381,380	\$4,178,153,759	0.0065534639	7	2	14
SOUTHWEST ISD	\$78,161,730	\$4,178,153,759	0.0003334039		2	38
TOWN OF HOLLYWOOD PARK	\$3,682,340	\$4,178,153,759	0.0167072412		2	2

Texas Property Tax Code Section 6.03(d): The voting entitlement of a taxing unit that is entitled to vote for directors is determined by dividing the total dollar amount of property taxes imposed in the district by the taxing unit for the preceding tax year by the sum of the total dollar amount of property taxes imposed in the district for that year by each taxing unit that is entitled to vote, by multiplying the quotient by 1,000, and rounding the product to the nearest whole number. That number is multiplied by the number of directorships to be filled. A taxing unit participating in two or more districts is entitled to vote in each district in which it participates, but only the taxes imposed in a district are used to calculate voting entitlement in that district.



OFFICIAL ELECTION BALLOT OF BEXAR APPRAISAL DISTRICT BOARD OF DIRECTORS 2026 TERM

VOTE MUST BE MADE BY RESOLUTION. THIS BALLOT MUST BE SUBMITTED WITH A RESOLUTION FOR YOUR VOTE TO BE COUNTED.

TAXING UNIT NAME:					
CANDIDATE	NUMBER OF VOTES				
DR. RALPH E. BARKSDALE (NOMINATED BY BEXAR COUNTY)					
JULIANA DUSEK (NOMINATED BY CITY OF OLMOS PARK)					
IVALIS MEZA GONZALEZ (NOMINATED BY CITY OF SAN ANTONIO)					
GERALD LOPEZ (NOMINATED BY ALAMO COLLEGE DISTRICT AND NORTHSIDE ISD)					
LEE MARTINEZ (NOMINATED BY HARLANDALE ISD)					
ROLANDO RAMIREZ (NOMINATED BY SOUTHSIDE ISD)					
BECKY RUIZ (NOMINATED BY HARI ANDALE ISD AND NORTHSIDE ISD)					

SOUTH SAN ANTONIO INDEPENDENT SCHOOL DISTRICT RESOLUTION

A Resolution of the Board of Managers of South San Antonio Independent School District

WHEREAS, the South San Antonio Independent School District has received the "Official Ballot" electing Directors to the Bexar Appraisal District for two four-year terms beginning January 1, 2026 through December 31, 2029;

WHEREAS, In accordance with Section 6.03 of the Property Tax Code, that stipulates that the governing body of each tax unit entitled to vote shall determine its vote by resolution and deliver the vote to the Chief Appraiser before December 15, 2025;

WHEREAS, the South San Antonio Independent School District Board of Trustees understands the two candidates with the most votes will be declared elected and the results will be delivered to each taxing unit by December 31st 2025;

WHEREAS, On December 15, 2025, The Board of Managers met and took appropriate action regarding the casting of its <u>16</u> votes on the enclosed **Official Election Ballot of Bexar Appraisal District Board of Directors**.

NOW, THEREFORE, BE IT RESOLVED by this Board of Managers of the South San Antonio Independent School District that its <u>16</u> votes are cast on the <u>attached</u> **Official Election Ballot of Bexar Appraisal District Board of Directors.**

Passed and approved this 15th day of December 2025.

SOUTH SAN ANTONIO INDEPENDENT SCHOOL DISTRICT BOARD OF TRUSTEES

Raymond Tijerina, President	Darrell Balderrama, Secretary